2p 25 Geef van elke bewering aan of deze wel of niet wordt genoemd in alinea 2
en/of 3.
Omcirkel achter elk nummer ‘wel’ of ‘niet’ in de uitwerkbijlage.
1 Hetis moeilijk om een hond slechte gewoonten af te leren.
2 Jonge honden zijn gehoorzamer dan oude honden.
3 Gebruik dagelijkse bezigheden met je hond als leermomenten.
4 Wissel de routines met je hond voldoende af.

Tekst 9

1p 26 What is pointed out about Kate McWilliams and Luke Elsworth in
paragraph 1?
A They are only allowed to fly short distances.
B They are younger than the average pilot.
c They hardly ever fly together because of their age.
D They have made a record number of flights in one week.

1p 27  Which is true according to paragraph 27?
A Kate McWilliams can be a role model for other women.
B Kate McWilliams joined the BWPA to help women find a job.
C Most women still think men should be in charge in the cockpit.
D The BWPA argues that it is too difficult for women to become captains.

1p 28 “l never even thought it could be an option available to me.” (paragraph 3)
Which option does Kate McWilliams mean?
A to be higher in rank than a man
B to be promoted to captain this quickly
Cc to become a professional pilot
D to fly from an airport close to home

Tekst 10

1p 29 What is the main function of paragraphs 1 and 27
They describe
A the event that made Larson decide to become a biologist.
B the moment Larson’s job turned out to be almost fatal to him.
C the specialist skills that Larson needs to develop further.
D the types of activities that are part of Larson’s job.

1p 30 ‘He is a new breed of scientist’ (paragraph 3)
How does that become clear?
A He collects data in unconventional ways.
B He prefers working in nature to studying.
C He reports on his findings through social media.
D He researches animals that others aren’t interested in.
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1p 31 Er ontbreekt een aantal zinnen in alinea 4. Ze staan hieronder, maar in de
verkeerde volgorde.
- Schrijf de letters van de zinnen in de juiste volgorde op in de
uitwerkbijlage.

[a] But after shadowing an optometrist, he realized it wasn’t for him.

[b] He studied biology in school but planned to go into optometry, which
seemed like a respectable profession.

[c] Instead, he decided to follow his passion for bears and approached
Tom Smith, a bear expert at Brigham Young University, to take him on as
a student, but Smith said no.

2p 32 Geef van elke bewering aan of deze wel of niet wordt genoemd in
alinea 5.
Omcirkel achter elk nummer ‘wel’ of ‘niet’ in de uitwerkbijlage.
1 Larson doet onderzoek naar de winterslaap van de vrouwelijke ijsbeer.
2 |Jsberen hebben veel last van milieuvervuiling.
3 Na hun winterslaap worden de ijsberen bijgevoerd.
4 |Jsberen zijn extreem gevaarlijk als ze jongen hebben.

1p 33 What does Larson say about his Instagram posts in paragraph 67?
He uses them to
A become famous as a photographer.
B inspire teachers to go on field trips.
Cc involve the public in environmental science.
D present his results to other scientists.

Tekst 11

1p 34 What becomes clear about the Merlin Entertainments Group from
paragraphs 1 and 27
A It has a very popular vacancy.
B It is changing its business strategy.
C It tries to take children’s opinions into account.
D It was contacted by an unexpected jobseeker.

1p 35 What becomes clear about Stanley in paragraphs 3 and 4?
A He is a very gifted Lego builder.
B He was rewarded for writing a letter.
C He was selected for a consultancy role.

1p 36 Uit welke zin in alinea 2, 3 of 4 blijkt dat Stanley nu nog niet in
aanmerking komt voor de baan van Lego model designer?
Citeer (= schrijf over uit de tekst) de eerste twee woorden van deze zin

Let op: de laatste vragen van dit examen staan op de volgende pagina.
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